M.A. PART-1l Examination, 2021 (CDOE)

Subject: Philosophy
Paper: VII
Time: 2 Hours Full Marks: 40

Write the answers to each Half in separate script.
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as per as practicable.
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First Half
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Answer question no. 4 and any one from the rest.
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1. Construct a formal proof of validity for each the following arguments: 5+5
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ii. (Ax)Mx 2 (y)(Ny>Oy)
(Hx)Px 5 (Hy)Ny

~(Hx)(Mx.Px) o (Hy)Oy

2. Prove the invalidity of the following arguments using the method of truth-value
assignment:
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i) Ao(BoC)
Bo(~CoD)
(Cv D)oE
~ADE

ii) (x)(y)(Ex2Fy)
(dy)(z)(Fy>~Gz)
~(X)(2)(~Ex>oGz)

3. a) Make a distinction between logically true statement and factually true statement.
(e T3 RIS 8 IBRE ST [0 T NYLFT FCAT 5+5

b) Prove that the following quantified propositions are logically true:
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(@x)(Fx v Q) = [(EX)Fx v Q]



4. Write short notes on any two of the following: 5+5
RS (T (76 T BT (774
a) Distinction between rules of inference and rules of replacement
NN TN 8 S BTN U Ny sy
b) The rule of Indirect proof
AT AN (1.P)-49 (W]
c) Multiply-general proposition
SERRICACKTD
d) Propositional function
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Answer question no 8 and any one from the rest.
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5. What is phenomenology? Give a brief account of Husserl’s phenomenology. 10
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6. Give a brief statement of Husserl’s method of phenomenological reduction, and compare it with
that of Descartes’ method of doubt.

5+5
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7. Examine Sartre’s view of human freedom with reference to his contention that ‘to be human’ and

‘to be free’ is the same.
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8. Write short notes on any two of the following:
5+5
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a. Weak Logical Psychologism
74 (e TG
b. Structure of intentionality

OIS O

c. Pre-reflective Cogito
ISR RRIAVER

d. Destruction as nothingness
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